TAEEL BB BIRHINI TRE

(B F4E4H 1B~ F553H31H)

. IRADHES (BT 1)
B o B B N34 FE B RNAMEFE -
HE PR (A [
KFHA TR VR T T A L
1. BB 4 1. A4 1. BHARRE 4 253,104 300,106 47,002
2. Rl R A | 1. AL R HA G | 1. 4 AL R H A 4 40,000 40,000 0[3%1
3. ZHH]LE 1. S HRI R 1. SZHF R 6 4 A 2
BHINA S FE (A) 293,110 340,110 47,000
II. ZXHOE (BT 1)
B o B B N34S N4 -
HE PR (A [
RFHA R A T T HeA) L
1. 4F g |1 AflErsEA (1. 4L REH 100,000 100,000 032
2. TR e | 1. PG IRERRE: | 1. S8 o R g 150,000 150,000 0]%3
3. Tt 1. T 1. b 43,110 90,110 47,000
Y HAEH(B) 293,110 340,110 47,000
WA S 7258 (A) — (B) 0 0 0

1 FEER 5487 X 8,000 =40,0001
2 (B)AFTr/— LB RER
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KEH R E /NERE THEE THEEA
1. BG4 1. A4 1. BHARRE 4 2,429,423 2,629,445 200,022
2. ¥ NG 1. A% 1. ¥ A4 200,000 200,000 03%1
3. ZHFILE 1. ZHFLE 1. ZHHLE 77 55 A 22
LHAN A G R (A) 2,629,500 2,829,500 200,000
. ZHOE (HAZ: M)
== Y AN = A =
‘ B E \’ﬂ» H ‘ n%nffr; /T}%niﬁf; B (A) P
KEA AR E /NEFA THEAA THEEA
1. RERESE 1. KERES 1. KERESE 2,600,000 2,800,000 200,000(3%2
2. Tlwte 1. Pt 1. Pt 29,500 29,500 0
VAR (B) 2,629,500 2,829,500 200,000
R BRI S 7548 (A) — (B) 0 0 0

XK1 — RSB

%2 R#E4:10,0001 X 28044 =2,800,000
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B & # H SSEE SRAEE - "
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1. BRSEFECBHION (1. B2 FRECEHIOAN |1, HSTFECEHIUA 0 0 0
YN 1. %;TJ\/\ 1. M4 162,000 162,000 0l3%1
3. HASTEAE (1. HAESKES |1 HESKES 60,000 60,000 0[3%2
LN A A E(A) 222,000 222,000 0
II. ZHOE (BN )
i oE B H SRS E S RnAEE -
j:m"u A 5
R R N T 75 A W=
1. EEE 1. JE e 183,000 183,000 0
1. fpELE 44,000 44,000 0
2. oW A LB 44,000 44,000 0
3. k=M AR 75,000 75,000 0
4. WHESE 10,000 10,000 0
5. JNiRE 10,000 10,000 0
2. B 1. BT 27,000 27,000 0
1. & 10,000 10,000 0
2. W5 EWRE 5,000 5,000 0
3. {HFEL 2,000 2,000 0
4., XEE 5,000 5,000 0
5. MeEr 5,000 5,000 0
3. Tt 1. Pl 1. Pl 12,000 12,000 0
YA R (B) 222,000 222,000 0
RN S %8 (A) — (B) 0 0 0
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>.<2 WAoo A Fitié
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1. ZHREEIA 1. BREEIA 1. ZBREEIA 39,075,000 38,578,000 A 497,000 1
HHINAGFT(A) 39,075,000 38,578,000 /\ 497,000
. S OH (BN )
B oxE & B A FNSAE B FNALE B (A) W =
KEHE HEHE /NEHE THEAR TR
1. MR E#A, B E 1. MKEH S, ZEE 1. MKERE, B 35,506,000 35,015,000 A 491,000(3%2
2. PRIAFHok) 1. #RIAFHOE} 1. IRIAFEE 200,000 200,000 0]%3
3. HEB 1. HERL 1. HEFL 1,314,000 1,298,000 A 16,000(3¢4
4. EHEE 1. EEE 2,055,000 2,065,000 10,000
1. NMb% 1,200,000 1,200,000 0]%5
2. WEE 855,000 865,000 10,000[3%6
LIS A E(B) 39,075,000 38,578,000 A 497,000
TINS5 (A) — (B) 0 0 0
X1 FEFBEITHREB LR, Kl Titeh s MR ES

X2 AHIR A

X3 AHER BT EAIRA THOR
Xd R FATARSRA
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I. IRADHES (B M)
#h E‘ B H \ /f}%nsfrﬁ %fﬂi%};f B3 () Jr—
KEH AR E /NELE THEE THEEA
EEEAAT A |1 EE AL A 3,180,000 3,180,000 0
1. EE A4 2,400,000 2,400,000 0
2. JINERAZ AT 4 0 0 0
3. 74Ty T WHEAZ 4 0 0 0
4. LI THE S 4 0 0 0
5. MBS 4 780,000 780,000 0]3%
6. WHERE A4 0 0 0
LA G ET (A 3,180,000 3,180,000 0
II. S HOE (B M)
—_ N AN AN
Hh /ZE\ B B \ ﬂ%ﬂi%g ﬂ%ﬂi%};f B3 (A) o=
KEH R E /NELE THEE THEEA
Ay 3,180,000 3,180,000 0
. TEE 3,100,000 3,100,000 0
1. A% 2,050,000 2,050,000 0
2. it 150,000 150,000 0
3. B 120,000 120,000 0
4. N 0 0 0
5. HRMRE 780,000 780,000 0




2. WHE# 80,000 80,000 0

1. 74e=Ty7 WHEE: 0 0 0

2. YAI—HHE 2 80,000 80,000 0

3. WHE=E 0 0 0

B HAEH(B) 3,180,000 3,180,000 0
PR S 7280 (A) — (B) 0 0 0

1 HSEFERRRR
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BN AAFT(A) 0 220,000 220,000
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B oE B B STN34EE STNAEE -
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1. tH# B34 1. tHEK B4 1. tH#E B4 0 22,000 22,000
2. fRiA FHCk 1. #RA FHCE 1. #RIA FHck 0 500 500
3. B 1. B 1. BB 0 187,500 187,500(3% 1
4. 1HERL 1. JHER 1. HEB 0 10,000 10,000(3%2
Y HAEH(B) 0 220,000 220,000
IR BRI S 280 (A) — (B) 0 0 0

K1 R FHHE A~
><2 —IREFH A ARA~REA
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1. BEEEIA 1. Bt 1. BTEEEINA 0 858,000 858,000
YN AEFE(A) 0 858,000 858,000
. ZHOE (BT )
& oE B B SSEE SAEE "
i‘%"n A
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1. fHRE 4 1. fHRE 4 1. fHRE 4 0 528,000 528,000
2. JRIAFHECEE 1. 2A FECEH 1. IRIA TR 0 2,000 2,000
3. EEy 1. EE# 1. B 0 242,200 242,200[3% 1
4. VHERL 1. VHERL 1. {HEH 0 85,800 85,800(3% 2
Y HAEH(B) 0 858,000 858,000
R AR S 258 (A) — (B) 0 0 0

K1 R FHHE A~
K2 —REFHAAIRA~REA
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